MODEL: CF 8545 (6")

Assembly Instruction

Item AA 1 pc Item AB 1 pc Item AC 2 pes Ttem A 24 pes | Item B 24pes | Item C 20 pes
Headboard Footboard Side Rail W f
om AD Tpes | temAE e | temAr tpes Plastic Dowel ( 8 x 25) JCBC W M6 x 40 JCBC M6 x 40
< Item D 20pes | Item E 48 pes Item F 56 pes
; Le
Center Rail 14 pcs Slats & K oo
Item AG 8 pes Item AH 8 pes Item Al 4 pes
White Nail Leg Power Nail % CSK M3.5 x 16 mm
Item G l6pes | Item H 50pes | Item I 32 pes
Drawer Slide 500 Drawer Slide 500 Support Leg
CSK M4 x 25mm CSK M4 x 32 mm CSK M4 x 50mm
Item J 1 pc Item K 16 pes
Ttem 1 4 pes Item 2 4 pes Item 3 8 pes M6 Flat Washer
w 0 Allen Key 65 mm
Drawer Front Panel Drawer Back Panel | Drawer Side Panel 9
Item 4 4 pes Item 5 8 pes Item 6 2 pes
Drawer Bottom Panel =
Item 7 2 pes Item 8 2 pes Item 9 2 pes
Item 10 4 pes

—




w2 w2
— —
(¢} (¢}
o o
ESN —_
] w2
= =
(¢} (¢}
o o
(V)] \]
w2 w2
— —
(¢} (¢}
o o
N w










w7, var i\ |\ \\\\ V)
/—77 7 ZA MWW
A—ZZZAA M \V
g A\ W% \\ ‘
_,l‘ﬂ | \ )
7~ \

\ X TAID)

o\\\ \\

" X
X\
"

I
\
\
\

"\‘
\ WOTANERA
\ LN/ A—
0 AN/
VAR Widrl——
WA \\ W —
\ \ W —
AN —
N\ —

!

\ \

\ \\\ .

L)
\\\"\A‘\\\

\\»\‘."'\ \ \\“‘\v)
ANkZ
[\l

17

7/

&
\




